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1
NacCl 28 @10>=20cm
150pm
1
3
Gmax kg/m
(mm) | em oy oy | O) 1505 | 2015 | sP8sv
20 |20 |45 o9 laa0| 152 | 317 | 571 | 240 | 370 | 687 | 2219
15 | 15
2
AE 0,06,1.2,2.4,50 kgim? 5
2
2 JCI-SC4 |95 JISA1154| 3
(@] (@] (@)
10g 100ml
95 50ml 10
JASS-5T-502
JCI-SC4
50 JIS A 1154
0.2ml 0.003%
1.0ml 5
t
2300kg/ms3
102-8465 6-28
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5-216 goboooe3sdnoooonoo@oz0090)
3
3 kg/m?
Cl kg/m3 0 0.600 1.200 2.500 5.000
cl 95 0 0.380 0.886 1.875 4.660
SC-4 0 0.184 0.610 1.679 3.830
SC-4 0 0.253 0.621 1.587 3.864
1 JIS 0.092 0.759 1.380 2.783 5.704
95 JIS 0.092 1.058 1.518 3.220 5.520
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